

$$\begin{cases} x \mathcal{L}^\mu &= x^\nu \mathcal{L}^\mu + \mathcal{L}^\mu = \tilde{x}^\mu \\ x \mathcal{L}_{\sigma \mathbb{N}} &= \sigma \mathcal{L}^\tau_{\tau \mathbb{N}} = \sigma \tilde{\mathbb{N}} \end{cases}$$

$$\begin{aligned} \mu \sigma \tilde{\mathbb{N}} &= x \mathcal{L}^\nu_{\nu \mathbb{N}} \left(\mathcal{L}_{\nu \sigma \mathbb{N}} + \mathcal{L}_{\sigma \mathbb{N}} \partial^\tau_{\nu \tau} \right) = \mu \mathcal{L}^\nu_{\nu \mathbb{N}} \mathcal{L}^\tau_{\sigma \tau \mathbb{N}} \\ x \mathcal{L}^\nu_{\mu \mathbb{N}} &= \mu \mathcal{L}^\nu \\ x \mathcal{L}_{\nu \sigma \mathbb{N}} &= 0 \\ x \mathcal{L}_{\sigma \mathbb{N}} \partial^\tau &= \sigma \mathcal{L}^\tau \end{aligned}$$

Poincare invariance $\tilde{x} \mathcal{L}_{\tilde{\mathbb{N}}: \tilde{\mathbb{N}}} = x \mathcal{L}_{\mathbb{N}: \mathbb{N}}$

$$\begin{aligned} \mu \sigma \tilde{\mathbb{N}} - \sigma \mu \tilde{\mathbb{N}} &= \mu \mathcal{L}^\lambda_{\lambda \mathbb{N}} \mathcal{L}^\varrho_{\sigma \tau \mathbb{N}} - \sigma \mathcal{L}^\lambda_{\lambda \mathbb{N}} \mathcal{L}^\varrho_{\mu \tau \mathbb{N}} = \mu \mathcal{L}^\lambda_{\lambda \mathbb{N}} \mathcal{L}^\varrho_{\sigma \tau \mathbb{N}} - \sigma \mathcal{L}^\varrho_{\mu \tau \mathbb{N}} \mathcal{L}^\lambda_{\lambda \mathbb{N}} = \mu \mathcal{L}^\lambda_{\lambda \mathbb{N}} \mathcal{L}^\varrho_{\sigma \tau \mathbb{N}} - \sigma \mathcal{L}^\varrho_{\mu \tau \mathbb{N}} \mathcal{L}^\lambda_{\lambda \mathbb{N}} \\ \text{LHS} &= \overbrace{\mu \sigma \tilde{\mathbb{N}} - \sigma \mu \tilde{\mathbb{N}}} \eta^{\mu\nu} \eta^{\sigma\tau} \overbrace{\nu \tau \tilde{\mathbb{N}} - \tau \nu \tilde{\mathbb{N}}} = \mu \mathcal{L}^\lambda_{\lambda \mathbb{N}} \mathcal{L}^\varrho_{\sigma \tau \mathbb{N}} \underbrace{(\lambda \mathbb{N} - \zeta \lambda \mathbb{N})} \eta^{\mu\nu} \eta^{\sigma\tau} \nu \mathcal{L}^\lambda_{\nu \mathbb{N}} \tau \mathcal{L}^\varrho_{\tau \mathbb{N}} \underbrace{(\varrho \mathbb{N} - \vartheta \varrho \mathbb{N})} \\ &= \underbrace{(\lambda \mathbb{N} - \zeta \lambda \mathbb{N})}_{=\eta^{\lambda\zeta}} \underbrace{(\mu \mathcal{L}^\lambda_{\mu \mathbb{N}} \eta^{\mu\nu} \nu \mathcal{L}^\varrho_{\nu \mathbb{N}})}_{=\eta^{\lambda\varrho}} \underbrace{(\sigma \mathcal{L}^\varrho_{\sigma \mathbb{N}} \eta^{\sigma\tau} \tau \mathcal{L}^\vartheta_{\tau \mathbb{N}})}_{=\eta^{\zeta\vartheta}} \underbrace{(\varrho \mathbb{N} - \vartheta \varrho \mathbb{N})} = \underbrace{(\lambda \mathbb{N} - \zeta \lambda \mathbb{N})}_{=\eta^{\lambda\zeta}} \eta^{\lambda\zeta} \eta^{\zeta\vartheta} \underbrace{(\varrho \mathbb{N} - \vartheta \varrho \mathbb{N})} = \text{RHS} \end{aligned}$$

$$\begin{cases} x \mathcal{L} &= x \\ x \mathcal{L}_{\sigma \mathbb{N}} &= \sigma \mathbb{N} + x \mathcal{L}_{\sigma \mathbb{N}} x \mathbb{N}^{-1} = \sigma \tilde{\mathbb{N}} \end{cases}$$

$$\mu \sigma \tilde{\mathbb{N}} = x \mathcal{L}^\nu_{\nu \mathbb{N}} \left(\mathcal{L}_{\nu \sigma \mathbb{N}} + \mathcal{L}_{\sigma \mathbb{N}} \partial^\tau_{\nu \tau} \right) = \mu \sigma \mathbb{N} + \mu \mathcal{L}_{\sigma \mathbb{N}} x \mathbb{N}^{-1} - x \mathcal{L}_{\sigma \mathbb{N}} x \mathbb{N}^{-1} \mu \mathcal{L}_{\nu \mathbb{N}} x \mathbb{N}^{-1}$$

$$x \mathcal{L}_{\nu \sigma \mathbb{N}} = \frac{x \mathcal{L}_{\sigma \mathbb{N}} x \mathbb{N}^{-1}}{\nu \mathcal{L}_{\nu \mathbb{N}} x \mathbb{N}^{-1}} = \frac{x \mathcal{L}_{\sigma \mathbb{N}} x \mathbb{N}^{-1}}{\nu \mathcal{L}_{\nu \mathbb{N}} x \mathbb{N}^{-1}} + \frac{x \mathcal{L}_{\sigma \mathbb{N}} x \mathbb{N}^{-1}}{\nu \mathcal{L}_{\nu \mathbb{N}} x \mathbb{N}^{-1}} = \frac{x \mathcal{L}_{\sigma \mathbb{N}} x \mathbb{N}^{-1}}{\nu \mathcal{L}_{\nu \mathbb{N}} x \mathbb{N}^{-1}} - \frac{x \mathcal{L}_{\sigma \mathbb{N}} x \mathbb{N}^{-1}}{\nu \mathcal{L}_{\nu \mathbb{N}} x \mathbb{N}^{-1}} \frac{x \mathcal{L}_{\nu \mathbb{N}} x \mathbb{N}^{-1}}{\nu \mathcal{L}_{\nu \mathbb{N}} x \mathbb{N}^{-1}}$$

$$x \mathcal{L}_{\sigma \mathbb{N}} \partial^\tau = \frac{\partial \sigma \mathbb{N}}{\partial \tau \mathbb{N}} = \sigma \delta^\tau$$

$$x \mathcal{L}_{\sigma \mathbb{N}} \partial^\tau_{\nu \tau} \mathbb{N} = \sigma \delta^\tau_{\nu \tau} \mathbb{N} = \nu \sigma \mathbb{N}$$

$$\text{LHS} = \mu \delta^\nu \overbrace{(\nu \mathcal{L}_{\nu \sigma \mathbb{N}} x \mathbb{N}^{-1} - x \mathcal{L}_{\sigma \mathbb{N}} x \mathbb{N}^{-1} \nu \mathcal{L}_{\nu \mathbb{N}} x \mathbb{N}^{-1})}_{\nu \sigma \mathbb{N}} + \nu \sigma \mathbb{N} = \text{RHS}$$

gauge invariance $\tilde{x} \mathcal{L}_{\tilde{\mathfrak{N}}:\tilde{\mathfrak{N}}} = x \mathcal{L}_{\mathfrak{N}:\mathfrak{N}}$

$$\begin{aligned} \overline{\mu\sigma \tilde{\mathfrak{N}}} - \overline{\sigma\mu \tilde{\mathfrak{N}}} &= \overline{\mu\sigma \mathfrak{N} + \frac{x_{\mu\sigma} x_{\mu\sigma}^{-1}}{\mu\sigma} - \frac{x_{\sigma\mu} x_{\sigma\mu}^{-1} x_{\mu\sigma} x_{\mu\sigma}^{-1}}{\mu\sigma}} - \overline{\sigma\mu \mathfrak{N} + \frac{x_{\sigma\mu} x_{\sigma\mu}^{-1}}{\sigma\mu} - \frac{x_{\mu\sigma} x_{\mu\sigma}^{-1} x_{\sigma\mu} x_{\sigma\mu}^{-1}}{\sigma\mu}} = \overline{\mu\sigma \mathfrak{N}} - \overline{\sigma\mu \mathfrak{N}} \\ \text{LHS} &= \overline{\mu\sigma \tilde{\mathfrak{N}} - \sigma\mu \tilde{\mathfrak{N}}} \eta^{\mu\nu} \eta^{\sigma\tau} \overline{\nu\tau \tilde{\mathfrak{N}} - \tau\nu \tilde{\mathfrak{N}}} = \overline{\mu\sigma \mathfrak{N} - \sigma\mu \mathfrak{N}} \eta^{\mu\nu} \eta^{\sigma\tau} \overline{\nu\tau \mathfrak{N} - \tau\nu \mathfrak{N}} = \text{RHS} \end{aligned}$$